
Y4 – Autumn – Block 4 – Step 2 – Multiply and divide by 6 Answers

Question Answer

1

a) There are 4 boxes.
There are 6 eggs in each box.
There are 24 eggs altogether.

b) There are 6 spiders.
There are 8 legs on each spider.
There are 48 legs altogether.

c) There are 6 boxes.
There are 12 eggs in each box.
There are 72 eggs altogether.

2

a)

b) Rosie puts 5 strawberries in each bowl.

3 3

4

9 × 6 = 54 
6 × 9 = 54
54 ÷ 6 = 9
54 ÷ 9 = 6

5 The yellow ribbon is 42 cm long.

6 11

7

possible answers:
4 bean bags on the 6, 0 bean bags on 3
3 bean bags on the 6, 2 bean bags on 3
2 bean bags on the 6, 4 bean bags on 3
1 bean bags on the 6, 6 bean bags on 3
0 bean bags on the 6, 8 bean bags on 3

8
No
6 times any number is even.
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